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AGA G etEn = 623,000
4.5 7w 9,269,000 9,269,000 9,267,360

] g H) = 9,267,360
259 909,000 909,000 904,630
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1AM EESSE 400,000 400,000 400,000
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2. A2k 31,000 31,000 31,000
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PARARE Pasey 31,000
3718t g5 <) 478,000 478,000 473,630
101444 428,000 428,000 423,630
o] z}=¢] 423,630
2. 71et A dE 50,000 50,000 50,000
Ve PR L EFT Y 50,000
6,740,000 10,576,000 10,575,060
Addmol g 6,740,000 10,576,000 10,575,060
1.EAAY A= 6,740,000 6,740,000 6,739,060
1.eAAY A= 6,740,000 6,740,000 6,739,060
FAAD A 6,739,060
20144 0 3,836,000 3,836,000
1.01 €A} H| 0 3,836,000 3,836,000
o] YAFSI ] = 3,836,000
Al A 465,829,000 469,665,000 469,648,820
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